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B (FEH ha, MHE:m%)
F - E # i
g ﬁiﬁ & H_;E EJ {RERA ER | @ U =
11,353] 175,168 169,591 | 15577]
FEOBR 2 F  Elg £ 800 (105,727) 107,962 (95,433) 97,638 (10,294) 10,324
11,6801 344,358 331,947 112,411}
E OB 238 F O Elg %% 1,156 (133,303) 153,370 (116,776) 133,395 (16,527) 19,975
11,450 299,064 279,558 | 119,506 |
FE OB 24 F Elg £ 659 (91,359) 91,776 (79,016) 79,388 (12,343) 12,389
11,266 1289,249 282,506 | 16,743]
EOR 25 FE O Ele % 802 (112,412) 118,296 (101,077) 106,926 (11,335) 11,369
11,244 287,141] 270,596 16,545]
T R 26 £ Eg ® 712 (114,858) 119,430 (107,480) 111,652 (7,378) 7,779
& % 589 (107,746) 112,322 (100,393) 104,567 (7,353) 7,755
o % - - - -
R % - - - -
# ] >3 - - - -
i % 123 (1,112 7,108 (7,088 7,084 (25) 24
i & E % % - (159) 159 (147) 147 (13) 13
& % - (159) 159 (147) 147 (13) 13
o % - - - -
R % - - - -
# ] >3 - - - -
) % - - - -
roj r182} 1173} 9
" It #® % 249 (39,415) 41,527 (34,205) 35,926 (5,210) 5,602
& % 183 (34,938) 37,051 (29,746) 31,467 (5,192) 5,584
bl >3 - - - -
R % - - - -
# -] >3 - - - -
] % 66 (4,477) 4477 (4,459) 4,459 (18) 18
T42] 15,990 14,364] 11,626
B X #® B4 35 (6,205) 6,205 (5,206) 5,206 (999) 1,000
& % 35 (6,205) 6,205 (5,206) 5,206 (999) 1,000
bl >3 - - - -
R % - - - -
# -] >3 - - - -
& % 0 0) 0 - (0) 0
11,019] 261,276 246,922 | 114,354
I #® % 170 (25,903) 26,990 (25,368) 26,448 (535) 542
& % 169 (25,802) 26,894 (25,269) 26,353 (533) 540
bl >3 - - - -
R % - - - -
# -] >3 - - - -
] % 0 (101) 97 (99) 95 (2) 2
100 18,274] 18,225] T49]
i # o " % 107 (14,264) 14,264 (14,046) 14,046 (218) 218
& % 81 (13,766) 13,766 (13,548) 13,548 (218) 218
b % - - - -
R % - - - -
#® ] >3 - - - -
] % 25 (498) 498 (498) 498 -
136 13,936 13,935] r2]
L #® 4 61 (14,166) 14,166 (14,130) 14,130 (35) 35
& % 61 (14,166) 14,166 (14,130) 14,130 (35) 35
b % - - - -
R % - - - -
#® ] >3 - - - -
] % - - - -
T47] 17,482] 16,977] 1504
b/ | #® % 91 (14,746) 16,118 (14,379) 15,749 (367) 369
& % 59 (12,710) 14,082 (12,347) 13,716 (363) 365
b % - - - -
R % - - -
#® ] >4 - - - -
il &% 31 (2,036) 2,037 (2,032) 2,032 4 4
1 diEE s # - (159) 159 (147) 147 (13) 13
= % - (159) 159 (147) 147 (13) 13
b % - - - -
R % - - - -
#® ] >4 - - - -
A % - - - -
roJ M173] [164] [ICN]
2 F & s # - - - -
= % - - - -
b % - - - -
R % - - - -
#® ] >4 - - - -
A % - - - -
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B (1 ha, M1 m°)

k3 - |3 _ # i
oA, F LR OB R ® # v B s % 4 & % #
14 % ) o %% - - - -
= >3 - - - -
# >3 - - - -
R >3 - - - -
#® & >3 - - - -
] % - - - -
130 14,928 73,303] 71,625]
15 % & % %% - - - -
=1 >3 - - - -
o >3 - - - -
R >3 - - - -
#® & >3 - - - -
] % - - - -
T45] 711,652 79,463 ] 12,189
168 W s % 1 (54) 54 (23) 23 (31) 31
& % 1 (54) 54 (23) 23 (31) 31
o >3 - - - -
R >3 - - - -
#® & >3 - - - -
] % - - - -
178 N # %% - - - -
=1 >3 - - - -
o >3 - - - -
R >3 - - - -
#® -] >3 - - - -
A % - - - -
7] 11,013] 71,013]
18 & H #® % - - - -
= >3 - - - -
o >3 - - - -
R >3 - - - -
#® -] >3 - - - -
A % - - - -
roy foj roj
19 |4 3 #® #% - - - -
= >3 - - - -
o >3 - - - -
R >3 - - - -
#® -] >3 - - - -
A % - - - -
7550 1127,871] 116,526 111,345
20 & % #® % 0 (65) 60 (55) 51 (10) 9
& >3 0 @n 27 (19) 20 (8) 8
# % - - - -
R 53 - - - -
#® -] >3 - - - -
il % 0 (37 33 (35) 32 (2) 2
T424) 121,753] 7120933 7820
21 I B #® #% 123 (21,471) 21,471 (21,127) 21,127 (344) 344
& % 123 (21,407) 21,407 (21,064) 21,064 (344) 344
# % - - - -
R % - - - -
#® -] >3 - - - -
il % - (63) 64 (63) 63 (0)
T12] 71,062] 71,060 1]
22 # M @ # 0 (0) 0 - (0)
& % - - - -
# % - - -
R % - - - -
#® -] >3 - - - -
A % 0 (0) 0 - (0) 0
23 B A #® # 45 (4,314) 5,405 (4,163) 5,247 (151) 158
= 53 45 (4,314) 5,405 (4,163) 5,247 (151) 158
# 53 - - - -
R 53 - - - -
#® -] >3 - - - -
A % - - - -
124 12,251] 12,246 5]
24 = B s % - - - -
= % - - - _
# 53 - - - -
R 53 - - - -
#® -] >3 - - - -
A % - - - -




B (1 ha, M1 m°)

i
m an k%

.
7

LR ER

25

|

26

|

27

|

28

|

29

|

30

|

31 E

bz |

32

bz |

33

bz |

34

m

35

3
#
% B
= O#
X R
£ E
X R
AR W
5 W
E R
fE W
B &
w A

m

#
# & 3 # R E#

25] 23] 2]
(11,677) 11,677 (11,465) 11,466 (211) 212
(11,677) 11,677 (11,465) 11,466 (211) 212

Ml Ml

11,286 1,286

r478] r478]
11,296 M1,267] 129]
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(498) 498 (498) 498 -
l486] 1486 oy
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12,360 12,360]
2] 2]
r274] 1274)
11,301 11,301
(14,166) 14,166 (14,130) 14,130 (35) 35
(14,166) 14,166 (14,130) 14,130 (35) 35
1749 1749
11,150] 11,147] r3)
M143) M142) [N
(3,374) 3,374 (3,326) 3,326 (48) 48
(3,374) 3,374 (3,326) 3,326 (48) 48
15,039 14,539 1500
(6,466) 6,466 (6,462) 6,462 4) 4
(4,429) 4,429 (4,429) 4,429 -
(2,036) 2,037 (2,032) 2,032 (¢)) 4
1400 1400
(2,743) 4,114 (2,739) 4,108 4) 6
(2,743) 4,114 (2,739) 4,108 4) 6




B (1 ha, M1 m°)

- E # i

oA, F LR OB R = & v B s % 4 % 8

464 ERE #® #® 9 (2,164) 2,164 (1,853) 1,853 311) 311
& [ 9 (2,164) 2,164 (1,853) 1,853 (311) 311
& >3 - - - -
R >3 - - -
# & >3 - - - -
] % - - - -

47 & % %% - - - -
& >3 - - - -
o >3 - - - -
R >3 - - - -
# & >3 - - - -
i 53 - - - -
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